UTRJEVANIJE: PRETVARJANJE MERSKIH ENOT

Pretvori:

6he=
70de =
9¢L=
84de =
8e12de=

3m?=

21 m?24dm? =
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700dm? =

8200cm? =

12,50 €=
17€95¢c=

2€5c=
55¢=
Tc=

2km30m=

7 dag =
480 g =
400 dag =
15t=
6g=
1dag5g=
5000 mg =

21205 mg =
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=

J

2h=_ -min

3h10min= min

420 min = h

590 min = h min

5min20s= S

200s = min s

290 cm = mm

156 cm = m cm

45 mm = cm mm

80dm = cm

206 cm = m dm cm

6999 m = km m

50dm = m

18m= dm

3000 m = km

7m3dm= dm

45kg = dag = g

7 dag = g= mg
60009 = dag = kg

40 000 dag = kg
15006 kg = t kg
4kg64dag52g= g
5t3kg= kg



